Y / HIKVISION

Wall-mounted Digital Sighage

Installation Guide



Wall-mounted Digital Signage ® Installation Guide

Chapter 1 Operation and Maintenance
Precautions

The LCD panel on the device is made by high-precision technology. However, tiny spots on the
screen that are always or never lit may be observed, or when observed from side, the color
may and brightness may appear to be uneven. Yet the above phenomena are common among
LCD displays rather than faults and will not affect the performance of the device.

1.1 Use of Power Cable

® |f the power cable is damaged or failed, contact service center. Make sure the power supply
is properly grounded and matches the requirements specified by the plate on the shell.

® Do not expose the device to rain or humid environment. Disconnect power plug and
antenna in thunderstorm weather.

® Install the device near an available AC power socket for easy power connection. Use the
same ground cable with other devices to prevent signal interference.

® |f the device is not to be used for a long time, shut down the power of the device and
disconnect the power supply.

® Electric discharge may last for a short period of time after the power is shut down. Please
wait for two minutes after the power is shut down to operate the device.

® Only use the original power cable delivered with the device. Contact authorized dealer to
purchase power cable with same specifications.

® Make sure the power supply is grounded.

® Do not let dust or metal attachment adhere to the power plug and socket.
® Do not modify the cable in any form.

® Do not place heavy object on the cable.

® Keep the cable away from heat.

® Do not disconnect the power plug by pulling the cable.

® Keep the power cable away from physical or mechanical damage.

® The cable is applicable only to the device. Do not use it on other devices.

1.2 Cleaning and Maintenance

® The hole on the rear shell is for heat dissipation. Do not pour or spray liquid to the rear shell
or use wet cloth for cleaning.

® Disconnect the power plug before cleaning.

® Use a dry, soft and dust-free cloth to clean the device.




Wall-mounted Digital Signage ® Installation Guide

® Contact service center for internal cleaning.
® Proper maintenance can avoid certain early-stage failures.
® Clean the device on a regular basis to make the device look new.

® Do not clean the device with water, spray cleaner or industrial chemical reagent. Prevent
foreign matters from entering the device.

® Contact qualified service personnel for device maintenance. If the device is damaged, please
contact our company, do not carry out unauthorized maintenance.




Wall-mounted Digital Signage ® Installation Guide

Chapter 2 Installation Preparations

2.1 Precautions for Installation

® Place the device on a stable surface or fix the device steadily on the wall.

® Contact professional staff for wall mounting.

® Do not expose the device to rain or humid environment.

® Do not place the device near mechanical vibration source.

® Do not place the device in an environment where insects have easy access.

® Do not let the device face the air conditioner directly to avoid condensing.

® Do not place the device in strong electromagnetic field to avoid radio interference.

® Clean the device screen and back before installation for best performance.

2.2 Packing List

Table 2-1 Packing List

Name Quantity Name Quantity

. . Pack of Expansion Bolt
Digital Signage 1 1
(6x M8, 1xM4)

Power Cord 1 Disk 1
Remote Control 1 Installation Guide 1
Battery 2 Wall-mounted Plate 1

EI\;] NOTE

If any accessories are damaged or lost, keep the package and contact your dealer for
replacement.

2.3 Environmental Requirements

Space Requirements

Ensure that enough space is left for the device and mounting structure.




Wall-mounted Digital Signage ® Installation Guide

Bearing Requirements
Ensure that the surface or the wall is strong enough to hold the necessary weight of the
device and the mount.

Temperature and Humidity Requirements
Temperature from 0 °C to 40 °C is recommended.

Humidity from 0% to 90% is recommended.




Wall-mounted Digital Signage ® Installation Guide

Chapter 3 Connections and Installation

Preparations:

The device can be mounted on the wall horizontally or vertically. Ensure that the surface or
the wall is strong enough to hold the necessary weight of the device and the mount. Ensure
that the room is enough and leave about 5 cm space around the device for installation.

I::E:l NOTE

Products may vary with device model. All pictures in this guide are for illustration purpose only.

3.1 Horizontal Wall Mounting

The device can be mounted on the wall horizontally. Observe the following instructions:
Step1 Confirm the installation height according to the actual application environment.

Step 2 Put the plate on the wall, and locate the positions of 6 installation holes.

[:E:I NOTE

Make sure the bending is at the bottom.
Step 3 Drill holes with the percussion drill on the positions located in Step 2.

Step 4 Fix the wall-mounted plate on the wall using M8 expansion bolts.

__~ Hanging Hole

Wall H
% / Installation Hole

A ’ O .. h %
J ;

Ll %
2
Sending

Figure 3-1 Horizontal Wall Mounting




Wall-mounted Digital Signage ® Installation Guide

Step 5 Insert the M6 hanging screws on the device back panel into the bigger round hole of the
hanging hole, and then slide the device to the lower left.

M6 hanging screws

Figure 3-2 M6 Hanging Screws

Step 6 Tighten the M4 screw on the bottom of the device to prevent being taken away.

\ M4 screw

Figure 3-3 The Position of M4 Screw




Wall-mounted Digital Signage ® Installation Guide

3.2 Vertical Wall Mounting

The device can be mounted on the wall vertically. Observe the following instructions:
Step1 Confirm the installation height according to the actual application environment.

Step 2 Put the plate on the wall, and locate the positions of 6 installation holes.

DE NOTE

Make sure the bending is on the right.
Step 3 Drill holes with the percussion drill on the positions located in Step 2.

Step4 Fix the wall-mounted plate on the wall using M8 expansion bolts.

Installation Hole

|_—Hanging Hole

| Bending

Figure 3-4 Vertical Wall Mounting

Step 5 Insert the M6 hanging screws on the device back panel into the bigger round hole of the
hanging hole, and then slide the device to the lower right.

Step 6 Tighten the M4 screw on the bottom of the device to prevent being taken away.




Wall-mounted Digital Signage ® Installation Guide

DE NOTE

® See 3.1 Horizontal Wall Mounting for detailed installation instructions.
® Ensure the bending is on the right, otherwise the device would be at the risk of slipping.

3.3 Powering on the Device

Step 1 Insert the power cable into 220 V socket with well grounding.

Step 2 Turn on the rocker switch, and check whether the light is on.

Dﬂ NOTE

If the device can be turned on and display normally, the installation is finished. If the device
cannot be turned on normally, check whether the connection is right.




Wall-mounted Digital Signage ® Installation Guide

User Manual

COPYRIGHT ©2019 Hangzhou Hikvision Digital Technology Co., Ltd.

ALL RIGHTS RESERVED.

Any and all information, including, among others, wordings, pictures, graphs are the properties of
Hangzhou Hikvision Digital Technology Co., Ltd. or its subsidiaries (hereinafter referred to be
“Hikvision”). This user manual (hereinafter referred to be “the Manual”) cannot be reproduced,
changed, translated, or distributed, partially or wholly, by any means, without the prior written
permission of Hikvision. Unless otherwise stipulated, Hikvision does not make any warranties,
guarantees or representations, express or implied, regarding to the Manual.

About this Manual

This Manual is applicable to Digital Signage.

The Manual includes instructions for using and managing the product. Pictures, charts, images and
all other information hereinafter are for description and explanation only. The information
contained in the Manual is subject to change, without notice, due to firmware updates or other
reasons. Please find the latest version in the company website
(http://overseas.hikvision.com/en/).

Please use this user manual under the guidance of professionals.

Trademarks Acknowledgement

HIKVISION and other Hikvision’s trademarks and logos are the properties of Hikvision in various
jurisdictions. Other trademarks and logos mentioned below are the properties of their respective
owners.

Legal Disclaimer

TO THE MAXIMUM EXTENT PERMITTED BY APPLICABLE LAW, THE PRODUCT DESCRIBED, WITH ITS
HARDWARE, SOFTWARE AND FIRMWARE, IS PROVIDED “AS IS”, WITH ALL FAULTS AND ERRORS,
AND HIKVISION MAKES NO WARRANTIES, EXPRESS OR IMPLIED, INCLUDING WITHOUT LIMITATION,
MERCHANTABILITY, SATISFACTORY QUALITY, FITNESS FOR A PARTICULAR PURPOSE, AND NON-
INFRINGEMENT OF THIRD PARTY. IN NO EVENT WILL HIKVISION, ITS DIRECTORS, OFFICERS,
EMPLOYEES, OR AGENTS BE LIABLE TO YOU FOR ANY SPECIAL, CONSEQUENTIAL, INCIDENTAL, OR
INDIRECT DAMAGES, INCLUDING, AMONG OTHERS, DAMAGES FOR LOSS OF BUSINESS PROFITS,
BUSINESS INTERRUPTION, OR LOSS OF DATA OR DOCUMENTATION, IN CONNECTION WITH THE USE
OF THIS PRODUCT, EVEN IF HIKVISION HAS BEEN ADVISED OF THE POSSIBILITY OF SUCH DAMAGES.
REGARDING TO THE PRODUCT WITH INTERNET ACCESS, THE USE OF PRODUCT SHALL BE WHOLLY
AT YOUR OWN RISKS. HIKVISION SHALL NOT TAKE ANY RESPONSIBILITES FOR ABNORMAL
OPERATION, PRIVACY LEAKAGE OR OTHER DAMAGES RESULTING FROM CYBER ATTACK, HACKER
ATTACK, VIRUS INSPECTION, OR OTHER INTERNET SECURITY RISKS; HOWEVER, HIKVISION WILL
PROVIDE TIMELY TECHNICAL SUPPORT IF REQUIRED.

SURVEILLANCE LAWS VARY BY JURISDICTION. PLEASE CHECK ALL RELEVANT LAWS IN YOUR
JURISDICTION BEFORE USING THIS PRODUCT IN ORDER TO ENSURE THAT YOUR USE CONFORMS
THE APPLICABLE LAW. HIKVISION SHALL NOT BE LIABLE IN THE EVENT THAT THIS PRODUCT IS USED
WITH ILLEGITIMATE PURPOSES.

IN THE EVENT OF ANY CONFLICTS BETWEEN THIS MANUAL AND THE APPLICABLE LAW, THE LATER
PREVAILS.



http://overseas.hikvision.com/en/

Wall-mounted Digital Signage ® Installation Guide

Regulatory Information

FCC Information
Please take attention that changes or modification not expressly approved by the party responsible
for compliance could void the user’s authority to operate the equipment.
FCC compliance: This equipment has been tested and found to comply with the limits for a Class A
digital device, pursuant to part 15 of the FCC Rules. These limits are designed to provide reasonable
protection against harmful interference when the equipment is operated in a commercial
environment. This equipment generates, uses, and can radiate radio frequency energy and, if not
installed and used in accordance with the instruction manual, may cause harmful interference to
radio communications. Operation of this equipment in a residential area is likely to cause harmful
interference in which case the user will be required to correct the interference at his own expense.
FCC Conditions
This device complies with part 15 of the FCC Rules. Operation is subject to the following two
conditions:
1. This device may not cause harmful interference.
2. This device must accept any interference received, including interference that may cause
undesired operation.
EU Conformity Statement
c This product and - if applicable - the supplied accessories too are marked with "CE" and
comply therefore with the applicable harmonized European standards listed under the
EMC Directive 2014/30/EU, the LVD Directive 2014/35/EU, the RoHS Directive 2011/65/EU.
ﬁ 2012/19/EU (WEEE directive): Products marked with this symbol cannot be disposed of as
— unsorted municipal waste in the European Union. For proper recycling, return this product
to your local supplier upon the purchase of equivalent new equipment, or dispose of it at

designated collection points. For more information see: www.recyclethis.info

2006/66/EC (battery directive): This product contains a battery that cannot be disposed

E of as unsorted municipal waste in the European Union. See the product documentation
for specific battery information. The battery is marked with this symbol, which may include

lettering to indicate cadmium (Cd), lead (Pb), or mercury (Hg). For proper recycling, return the
battery to your supplier or to a designated collection point. For more information see:

www.recyclethis.info

Industry Canada ICES-003 Compliance
This device meets the CAN ICES-3 (A)/NMB-3(A) standards requirements.

10


http://www.recyclethis.info/
http://www.recyclethis.info/

Wall-mounted Digital Signage ® Installation Guide

Applicable Models
This manual is applicable to Digital Signage (hereafter referred to as the device).
Symbol Conventions

The symbols that may be found in this document are defined as follows.

Symbol Description

I:E:I Provides additional information to emphasize or supplement
NOTE important points of the main text.

Indicates a potentially hazardous situation, which if not avoided,
could result in equipment damage, data loss, performance
degradation, or unexpected results.

A Indicates a hazard with a high level of risk, which if not avoided, will
£+ ADANGER result in death or serious injury.

Safty Instructions

\ WARNING
® The device may generate radio interference in indoor environment. Necessary precautions
may be required.

® QOur company is not responsible for any fault caused by third-party when operating the
device and other failure or damage incurred.

® Do not operate the device in an environment of dust, high humidity, or oil and steam
contacting to avoid the risk of fire and damage.

® Do not place the device in:
- Direct strong lighted, humid, over-heated/cooled, dusty environment.
- An environment where flammable and explosive matter are stored and used.
- An environment of flammable and corrosive gas.
- Places like bathroom and kitchen.

® Do not operate the device in an environment of dust, high humidity, or oil and steam
contacting to avoid the risk of fire and damage.

® Do not operate the device near heating device or place of high temperature to avoid the
risk of fire.

® Do not damage the power cable:
- Do not modify the cable in any form.

- Do not place heavy matter on the cable.

11



Wall-mounted Digital Signage ® Installation Guide

- Keep the power away from heat.
- Do not disconnect the power plug by pulling the cable.

® Do not use damaged or unfit power socket. Make sure the plug and the socket are in good
contact.

® Do not parallel multiple plugs in one socket to avoid fire risk caused by power overload.

® Do not approach the device with fire (e.g. a lit candle) to avoid the risk of fire or electric
shock.

® Do not place anything containing liquid on the device to avoid the risk of fire or electric
shock caused by liquid-splashing.

® Do not let sharp or metal articles and liquids contact the signal connectors or heat
dissipation holes to avoid short circuit, product damage and electric shock.

® The hole on the shell is designed for heat dissipation. Do not block the hole when installing
the device.

® Do not touch the device with a wet finger to avoid risk of electric shock.

® Contact professional technicians for repairing.

® To avoid the risk of electric shock, please do not operate when the power is on.

® Please do not frequently plug and unplug the power cable when the power is on.

® Keep small accessories away from children.

® Make sure the power supply matches the requirements specified by the plate on the shell.

® After moving the device from low temperature environment to high temperature
environment, please do not turn on the device immediately and wait for the condensation
to evaporate.

® Make sure the environment is dry and well-ventilated, and heat dissipation is good.
® The device and its accessories are subject to change without prior notice.

® The fragile materials of the display are vulnerable to falling and impact. Please hold with
care.

® Scratching or knocking the device with hard objects is strictly forbidden. Do not frequently
turn on/off the power of the device when operating to avoid the risk of damage and faults.

® |f smoke, odor or noise rise from the device, turn off the power at once and unplug the
power cable, and then please contact the service center.

12



‘ See Far, Go Further

UD13265B-A



	Chapter 1 Operation and Maintenance Precautions
	1.1 Use of Power Cable
	1.2 Cleaning and Maintenance

	Chapter 2 Installation Preparations
	2.1 Precautions for Installation
	2.2 Packing List
	2.3 Environmental Requirements
	Space Requirements
	Bearing Requirements
	Temperature and Humidity Requirements


	Chapter 3 Connections and Installation
	Preparations:
	3.1 Horizontal Wall Mounting
	Step 1 Confirm the installation height according to the actual application environment.
	Step 2 Put the plate on the wall, and locate the positions of 6 installation holes.
	Step 3 Drill holes with the percussion drill on the positions located in Step 2.
	Step 4 Fix the wall-mounted plate on the wall using M8 expansion bolts.
	Step 5 Insert the M6 hanging screws on the device back panel into the bigger round hole of the hanging hole, and then slide the device to the lower left.
	Step 6 Tighten the M4 screw on the bottom of the device to prevent being taken away.

	3.2 Vertical Wall Mounting
	Step 1 Confirm the installation height according to the actual application environment.
	Step 2 Put the plate on the wall, and locate the positions of 6 installation holes.
	Step 3 Drill holes with the percussion drill on the positions located in Step 2.
	Step 4 Fix the wall-mounted plate on the wall using M8 expansion bolts.
	Step 5 Insert the M6 hanging screws on the device back panel into the bigger round hole of the hanging hole, and then slide the device to the lower right.
	Step 6 Tighten the M4 screw on the bottom of the device to prevent being taken away.

	3.3 Powering on the Device
	Step 1 Insert the power cable into 220 V socket with well grounding.
	Step 2 Turn on the rocker switch, and check whether the light is on.


	第1章  安装前准备
	1.1  安装注意事项
	1.2  装箱清单
	1.3  安装环境
	安装空间
	安装承重
	温/湿度要求


	第2章  连接与安装
	安装前准备：
	2.1  横向壁挂安装
	步骤1 根据实际使用场景确认信息发布屏安装离地高度。
	步骤2 选择合适的安装墙面，保证壁挂板翻边在底部，再将壁挂板放在墙面上，确定壁挂板6个安装孔的位置。
	步骤3 在确定好的壁挂板安装孔位置使用冲击钻打孔，用M8膨胀螺栓将壁挂板固定在墙面上。
	步骤4 将信息发布屏背面的4颗M6壁挂螺钉与壁挂板葫芦孔的大孔对准插入，然后斜向左下滑入。
	步骤5 用M4螺钉锁紧壁挂板底部，防止信息发布屏被随意取下，增加安全性。

	2.2  竖向壁挂安装
	步骤1 根据实际使用场景确认信息发布屏安装离地高度。
	步骤2 选择合适的安装墙面，保证壁挂板翻边在右侧，再将壁挂板放在墙面上，确定壁挂板6个安装孔的位置。
	步骤3 在确定好的壁挂板安装孔位置使用冲击钻打孔，用M8膨胀螺栓将壁挂板固定在墙面上。
	步骤4 将信息发布屏背面的4颗M6壁挂螺钉与壁挂板葫芦孔的大孔对准插入，然后斜向右下滑入。
	步骤5 用M4螺钉锁紧右侧壁挂板底部，防止信息发布屏被随意取下，增加安全性。

	2.3  开机上电
	步骤1 将信息发布屏电源线插入接地良好的220 V电源插座中。
	步骤2 打开侧方船型开关，检查开关灯是否亮。


	第3章  激活与注册

